Primary School
Primary 2 – Weight
Worksheet 1 – Annotation


Instruct students to record the result of weights in Question 1.  If object A is lighter than object B, write letter A to the left of letter B in the box.  If object A is heavier than object B, write letter A to the right of letter B.  Remind students to leave enough space between letters.



Primary School
Primary 2 – Weight
Worksheet 1
Name：	   (         )	Class：2_____
Date：	  

1. Which one is the heaviest and which one is the lightest?
        [image: ]       [image: ]
		B

	lighter
	
	
	
	
	
	
	heavier



2. Which one is the heaviest and which one is the lightest?
      B
A
C
A


           The lightest：__________       The heaviest：____________

3. 
              

A. [image: images/clipart/apple-25298_960_720.png] is heavier than[image: images/clipart/banana-42793_960_720.png] .
B. [image: images/clipart/banana-42793_960_720.png] is heavier than [image: images/clipart/apple-25298_960_720.png] .
C. [image: images/clipart/apple-25298_960_720.png] and[image: images/clipart/banana-42793_960_720.png] weigh the same.
D. The weights of [image: images/clipart/apple-25298_960_720.png]  and [image: images/clipart/banana-42793_960_720.png] cannot be compared.

4. [image: ]
   

                  
Study the diagram above. Which of the following is correct? 

A. [image: ]and [image: ] weigh the same.
B. [image: ] is lighter than [image: ].
C. [image: ]is lighter than [image: ] .
D. The weights of [image: ]and [image: ] cannot be compared.
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Primary School
Primary 2 – Weight
Worksheet 1 – Answers
Name：	   (         )	Class：2_____
Date：	  

1. Which one is the heaviest and which one is the lightest?
        [image: ]       [image: ]
		B        A        C

	lighter
	
	
	
	
	
	
	heavier



2. Which one is the heaviest and which one is the lightest?
      B
A
C
A


           The lightest：____B_____       The heaviest：_____C______

3. 
              

A. [image: images/clipart/apple-25298_960_720.png] is heavier than[image: images/clipart/banana-42793_960_720.png] . 
B. [image: images/clipart/banana-42793_960_720.png] is heavier than [image: images/clipart/apple-25298_960_720.png] .
C. [image: images/clipart/apple-25298_960_720.png] and[image: images/clipart/banana-42793_960_720.png] weigh the same. 
D. The weights of [image: images/clipart/apple-25298_960_720.png]  and [image: images/clipart/banana-42793_960_720.png] cannot be compared.

4. [bookmark: _GoBack][image: ]
   

                  
Study the diagram above. Which of the following is correct? 

A. [image: ]and [image: ] weigh the same.
B. [image: ] is lighter than [image: ].
C. [image: ]is lighter than [image: ] .
D. The weights of [image: ]and [image: ] cannot be compared.
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  (a) 的重量是            g。 
 



     



  (b)          比                 
 
  
* 輕  / 重            g。（*圈出答案）  



  



 



 



0 



200



400600



800 
g 



0 



3 1 



2 



kg










              2 6 .      

2 0 1 3 - T S A - M A T H - 3 M C 2 - 12 

 

12

 

請

勿

在

此

書

寫

。

 

 

請

勿

在

此

書

寫

。

 

    細 閱 上 圖，以下哪一項是正確的？

 

       

   

 

A .       和   的重量相等。 

 

   

 

B .       比     輕。 

 

   

 

C .        比     輕。 

 

   

 

D .  無法比較     和  

  

的重量。  

 

     

     

  2 7 .  

 

 

   

 

 

 

 

 

 

 

 

 

 

  ( a )

 

的重量是           g。  

 

 

   

 

 

    ( b )  

           比                

 

   

*   輕 / 重           g。（*圈出 答 案 ）  

   

 

 

0 

200

400

6 0 0

800 

g 

0

 

3  1  

2

 

kg


image6.emf



 
 
    
 26.   



2013-TSA-MATH-3MC2-12 
 



12



 
請
勿
在
此
書
寫
。



 



 
請
勿
在
此
書
寫
。



 



  細閱上圖，以下哪一項是正確的？  
    



  { A.       和    的重量相等。  



  { B.       比      輕。  



  { C.        比     輕。  



  
{ D.  無法比較      和     的重量。  



   
   



 27.  
 
  
 
 
 
 
 
 
 
 



 



  (a) 的重量是            g。 
 



     



  (b)          比                 
 
  
* 輕  / 重            g。（*圈出答案）  



  



 



 



0 



200



400600



800 
g 



0 



3 1 



2 



kg










              2 6 .      

2 0 1 3 - T S A - M A T H - 3 M C 2 - 12 

 

1 2

 

請

勿

在

此

書

寫

。

 

 

請

勿

在

此

書

寫

。

 

    細 閱 上 圖，以下 哪 一 項 是 正 確 的 ？          

   

 

A .        和       的 重 量 相 等 。  

 

   

 

B .        比           輕 。  

 

   

 

C .         比         輕 。  

 

   

 

D .   無法比 較           和    

   

的 重 量 。  

 

     

     

  2 7 .    

 

   

 

 

 

 

 

 

 

 

 

    ( a )

 

的 重 量 是                       g 。  

 

     

 

 

    ( b )  

             比                                

 

   

*   輕 / 重                       g 。 （ * 圈 出 答 案 ）  

   

 

 

0  

2 0 0

4 0 0 6 0 0

800 

g  

0  

3  

1  

2  

k g


image7.emf



 
 
    
 26.   



2013-TSA-MATH-3MC2-12 
 



12



 
請
勿
在
此
書
寫
。



 



 
請
勿
在
此
書
寫
。



 



  細閱上圖，以下哪一項是正確的？  
    



  { A.       和    的重量相等。  



  { B.       比      輕。  



  { C.        比     輕。  



  
{ D.  無法比較      和     的重量。  



   
   



 27.  
 
  
 
 
 
 
 
 
 
 



 



  (a) 的重量是            g。 
 



     



  (b)          比                 
 
  
* 輕  / 重            g。（*圈出答案）  



  



 



 



0 



200



400600



800 
g 



0 



3 1 



2 



kg










              2 6 .      

2 0 1 3 - T S A - M A T H - 3 M C 2 - 1 2  

 

1 2

 

請

勿

在

此

書

寫

。

 

 

請

勿

在

此

書

寫

。

 

    細 閱 上 圖 ， 以 下 哪一項 是 正 確 的 ？          

   

 

A .               和   的 重 量 相 等 。  

 

   

 

B .               比       輕 。  

 

   

 

C .                

比

     輕 。  

 

   

 

D .     無 法 比較         和    

   

的 重 量 。  

 

     

     

  2 7 .  

 

 

   

 

 

 

 

 

 

 

 

 

    ( a )

 

的重量 是                       g 。  

 

     

 

 

    ( b )  

                 比                              

 

   

*   輕   /   重                   g 。 （ * 圈 出 答 案 ）  

   

 

 

0 

200

400 6 0 0

8 0 0  

g 

0  

3  

1  

2  

k g


image8.emf



 
 
    
 26.   



2013-TSA-MATH-3MC2-12 
 



12



 
請
勿
在
此
書
寫
。



 



 
請
勿
在
此
書
寫
。



 



  細閱上圖，以下哪一項是正確的？  
    



  { A.       和    的重量相等。  



  { B.       比      輕。  



  { C.        比     輕。  



  
{ D.  無法比較      和     的重量。  



   
   



 27.  
 
  
 
 
 
 
 
 
 
 



 



  (a) 的重量是            g。 
 



     



  (b)          比                 
 
  
* 輕  / 重            g。（*圈出答案）  



  



 



 



0 



200



400600



800 
g 



0 



3 1 



2 



kg










              2 6 .      

2 0 1 3 - T S A - M A T H - 3 M C 2 - 1 2  

 

1 2

 

請

勿

在

此

書

寫

。

 

 

請

勿

在

此

書

寫

。

 

    細 閱 上 圖 ， 以 下 哪一項 是 正 確 的 ？          

   

 

A .               和   的 重 量 相 等 。  

 

   

 

B .               比       輕 。  

 

   

 

C .                

比

     輕 。  

 

   

 

D .     無 法 比較         和    

   

的 重 量 。  

 

     

     

  2 7 .  

 

 

   

 

 

 

 

 

 

 

 

 

    ( a )

 

的重量 是                       g 。  

 

     

 

 

    ( b )  

                 比                              

 

   

*   輕   /   重                   g 。 （ * 圈 出 答 案 ）  

   

 

 

0 

200

400 6 0 0

8 0 0  

g 

0  

3  

1  

2  

k g


image9.emf



 
 
    
 26.   



2013-TSA-MATH-3MC2-12 
 



12



 
請
勿
在
此
書
寫
。



 



 
請
勿
在
此
書
寫
。



 



  細閱上圖，以下哪一項是正確的？  
    



  { A.       和    的重量相等。  



  { B.       比      輕。  



  { C.        比     輕。  



  
{ D.  無法比較      和     的重量。  



   
   



 27.  
 
  
 
 
 
 
 
 
 
 



 



  (a) 的重量是            g。 
 



     



  (b)          比                 
 
  
* 輕  / 重            g。（*圈出答案）  



  



 



 



0 



200



400600



800 
g 



0 



3 1 



2 



kg










              2 6 .      

2 0 1 3 - T S A - M A T H - 3 M C 2 - 12 

 

1 2

 

請

勿

在

此

書

寫

。

 

 

請

勿

在

此

書

寫

。

 

    細 閱 上 圖，以下 哪 一 項 是 正 確 的 ？          

   

 

A .        和       的 重 量 相 等 。  

 

   

 

B .        比           輕 。  

 

   

 

C .         比         輕 。  

 

   

 

D .   無法比 較           和    

   

的 重 量 。  

 

     

     

  2 7 .    

 

   

 

 

 

 

 

 

 

 

 

    ( a )

 

的 重 量 是                       g 。  

 

     

 

 

    ( b )  

             比                                

 

   

*   輕 / 重                       g 。 （ * 圈 出 答 案 ）  

   

 

 

0  

2 0 0

4 0 0 6 0 0

800 

g  

0  

3  

1  

2  

k g


image10.emf



 
 
    
 26.   



2013-TSA-MATH-3MC2-12 
 



12



 
請
勿
在
此
書
寫
。



 



 
請
勿
在
此
書
寫
。



 



  細閱上圖，以下哪一項是正確的？  
    



  { A.       和    的重量相等。  



  { B.       比      輕。  



  { C.        比     輕。  



  
{ D.  無法比較      和     的重量。  



   
   



 27.  
 
  
 
 
 
 
 
 
 
 



 



  (a) 的重量是            g。 
 



     



  (b)          比                 
 
  
* 輕  / 重            g。（*圈出答案）  



  



 



 



0 



200



400600



800 
g 



0 



3 1 



2 



kg










              2 6 .      

2 0 1 3 - T S A - M A T H - 3 M C 2 - 12 

 

1 2

 

請

勿

在

此

書

寫

。

 

 

請

勿

在

此

書

寫

。

 

    細 閱 上 圖，以下 哪 一 項 是 正 確 的 ？          

   

 

A .        和       的 重 量 相 等 。  

 

   

 

B .        比           輕 。  

 

   

 

C .         比         輕 。  

 

   

 

D .   無法比 較           和    

   

的 重 量 。  

 

     

     

  2 7 .    

 

   

 

 

 

 

 

 

 

 

 

    ( a )

 

的 重 量 是                       g 。  

 

     

 

 

    ( b )  

             比                                

 

   

*   輕 / 重                       g 。 （ * 圈 出 答 案 ）  

   

 

 

0  

2 0 0

4 0 0 6 0 0

800 

g  

0  

3  

1  

2  

k g


image11.emf



 
 
    
 26.   



2013-TSA-MATH-3MC2-12 
 



12



 
請
勿
在
此
書
寫
。



 



 
請
勿
在
此
書
寫
。



 



  細閱上圖，以下哪一項是正確的？  
    



  { A.       和    的重量相等。  



  { B.       比      輕。  



  { C.        比     輕。  



  
{ D.  無法比較      和     的重量。  



   
   



 27.  
 
  
 
 
 
 
 
 
 
 



 



  (a) 的重量是            g。 
 



     



  (b)          比                 
 
  
* 輕  / 重            g。（*圈出答案）  



  



 



 



0 



200



400600



800 
g 



0 



3 1 



2 



kg










              2 6 .      

2 0 1 3 - T S A - M A T H - 3 M C 2 - 1 2  

 

1 2

 

請

勿

在

此

書

寫

。

 

 

請

勿

在

此

書

寫

。

 

    細 閱 上 圖 ， 以 下 哪一項 是 正 確 的 ？          

   

 

A .               和   的 重 量 相 等 。  

 

   

 

B .               比       輕 。  

 

   

 

C .                

比

     輕 。  

 

   

 

D .     無 法 比較         和    

   

的 重 量 。  

 

     

     

  2 7 .  

 

 

   

 

 

 

 

 

 

 

 

 

    ( a )

 

的重量 是                       g 。  

 

     

 

 

    ( b )  

                 比                              

 

   

*   輕   /   重                   g 。 （ * 圈 出 答 案 ）  

   

 

 

0 

200

400 6 0 0

8 0 0  

g 

0  

3  

1  

2  

k g


image12.png




image13.png




image1.png




